[ Ch12 Test Review / ]

#1. Find the leng/ths of the sides of the triangle
™ PQR. Isitaright triangle? Is it an isosceles

triangle? P(3/2,-3), 0(7,0.1), R(,2,1).
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#2. Determine whether the points lie ona straight
line.

(i) 4(2,4,2), B(37.-2), C(1,33).
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(i) D(0,~5,5), E(1,-2,4), F(3,4 2).
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#3. For a —<5 ~12), b =(-3,-6) find:
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(iii)

#4. Find a unit vector that has the »direction as - -

(-4,2,4) .
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- #5. Rope 3m and 5m in length are fastened to a
~ holiday decoration that is suspended over a town
square. The decoration has a mass of 5kg. The
ropes, fasted at different heights, make angles of

52° and 40° with the horizontal. Find the tension in
" each wire.
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#6. A clothesline is tied between two poles, 8m
apart. The line is quite taut and has negligible sag.
When a wet shirt with a mass ot 0.8 kg is hung at
the middle of the line, the midpoint is pulled down
8 ¢in)) Find the tension in each half of the
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- #7. Find the angle between the vectors (in exact
and decimal form). P (4,0,2), b= (2,-1,0).
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#9. If a =<1,2,1> and b =<O,1,3>, find

- - >
axb and bxa .
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#8. For what values of b are the vectors
<—6,b,2> ‘and <b,b2,b> orthogonal? .
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#10. F lnd\two unit vectors orthogonal to both :
<1 -1 1> and (0,4,4). ~
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. #11. Find a vector equation, parametric equations,
- and symmetric equations for the line through the

p01nts(6 1,-3) and (2,4,5).
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#13. Fmd an equation of the plane through the
point ( 2,8,10) and perpendicular to the line
X = l-l—ty 2, z=4-3¢.
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RE #12. ,Flnd a vector equation for the line of
intersection of the planes

x+y+z=1 and x+z=0.
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- #14. Flnd an equation of the - plane that contains

the line x=3 +2t, y =1, z =8 —tand is parallel to
the plane2x+4y+8z 17.

W—ﬁ:f it pfqm TS y\’.::a 22,Y, ?)
s a\A@ howmal ~for paw Plane [67“'“‘ ldw}agwm‘&

—[vr ‘D/\/{&QI‘& / chaose W\j"’é '}l’ ‘?fﬁ;} ;“N‘“ﬁ
Vafam@?éwﬂ 62'«,#?&5 L

chosse. =0 X =34 24e) =3
A Yoo {o) =
- B30, 87

Vi°°’( axibyrcz=n R

2xrtyr8e=C2 482 Z/,e:» P>
=(E)+ Y+ Yo




. " #15. Draw at least two traces for each coordinate
~ plane for 4x> —16y” + z* =16 . What kind of solid
: is this? What is its main axis? Sketch the solid'in
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#16. If u and v are the vectors shown in the
figure:
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(iii) Is u x v directed into the page or out of the
page?
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- #17. For a=i+ j-2k, and b=3i-2j+k
| Find each of the following; '
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.. Find the scalar and vector projection of <5, 2, 7> onto <4, 6, 1> .
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